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Draw 2D Histogram

- 15,000~25,000 Entries in each 240 Trees (Tree O, Tree_1 ... Tree_238, Tree 239)
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Draw 2D Histogram

- Each 240 Trees have 15,000 ~ 25,000 Entries
- Tree_1 -> Draw 2D Histogram about all of Entries.
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Calibration dt -> dx

t0

Get time-information (t0, t2)
Draw 1D Histogram t2-t0
Calibrate dt -> dx

Length : 2 m
Velocity : 150 mm/ns
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Divide Signals with Hit Position

Length
Velocity : 150 mm/ns
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Hit-Position ID : 0

- Per 0.1 m

- Hit-Position ID 0 ~ 19

S 2m

Tree 2

Hist_0

02

0.15

0.05

Mean x

Std Dev x

Entries 5160960
128.5

Mean y 0.002192
132

Std Devy 0.006867

0.1

_ .y e o oo glee W4 -
o T e e
0 LN
poh
-

_0_(15' _

2000

4000

3000

2000

1000

0



Divide Signals with Hit Position
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